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(B MERE 1)
EBEOEEAH 160kN(1L630kgh)T,  EaMESlaalec)

Cel)

B A Y DESE 200kPa (2.04kgf /cm2)d) [T T X HKE R

200(200
& E AWICHENTESIZAIN 5ELT, 185/65R1588S |, 111/5 )
18 E7-Y OEMERZE KDL b B A % 1 ¥

T125/70D1696M |42 0 {4.2]

(2] 18@U-YDHEE (A1) :F=16.0x10°/4=4.0x10° N,
[£7: p=200x10°Pa

F F  4.0x10°
EHp=—o>mE A=—= = 0.02[m?
p =4~ B 0 200x10° [m°]

BlZIE, BAYDIE 0.2 m200mm)ET I, FEHhESIE
0.1m(100mm)F2E (%3, (- 0.2x0.1=0.02 m?)




HE10kgD &R
NDEE(X

AMET16.3N
-

<1?t'3_l:'6’98N

2.04kgf /cm® =2.04x9.8 N /cm? =20.0 N /cm?
=20.0x10% N/m? = 200kPa



(b) EAEBLUANYER
KENSEEhmDECAIZETmDEEN Am? D
WA D DEE . KDEFEEZE pkg/m® EFTNIE,

MADIETE:V =hA m° _
MIADE=:m=pV = phA kg P i
KD EE(H): F =mg = pghA N F‘
A
zzmﬁf‘z%gﬁn s i& ), p'
_r_P _
P=2="x =pgh [Pa] (2.5)
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(@) KETFLSMIZHBITEENZTRDK , 1zZL. KOEEZ

10° kg/m* &9 %, =
(2] HEAH:p=pgh=10°%9.8x5 PR
= 49x10° [Pa] = 49[kPa]

(b) EE2m DAY, LLE 0.85D&AEN
1.5m QRS TEIBEIN TS, 2V EM L
IZRETIENERD K.

(f2) EH:p=pgh
LbE:s=0.85—> % p =sx10° =0.85x10° kg/m?®
p = pgh=0.85x10°x9.8x1.5=12.5x10° [Pa] =12.5[kPa]
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BERKIE: p, = 760 mmHg (UK ER+%)

= pgh=13.6x10°x9.8x0.76

=101.3x10° [Pa]=101.3[k Pa](=1013[h Pa])
- IKEBEDEE: p=13.6x10° kg/m’
DEEIZEST &

KEBHOSSIX. IFRE
#176cm Tdh 5,

ME:h=120mmHg DI HIZ.
p=pgh=13.6x10°%x9.8x120x10°

&)

~16000[Pa] =16.0 [kPa]
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STt : Paps = KIJE: Po (101.3kPa) +—UE: Pgage

BEORXNEELEKEEDBERIZEITLNS
$EXEE T K=273.15+ Kt °C
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($&E R 3)
ETHICBEEDIM VYD ERELEEREZAEL-ESA
20°C T200kPa (2.04 kgf / cm?) T3H>1=,
E1TR . BEEZAELIEZIAS0°CIZERLTLM =,
BANDBRBIEIZIELEWNEDELTIEATRD L,

(f8] K&RE% p,=10L3kPat 9 5 ¢
p, =101.3x10° +200x10° =301.3x10° Pa (#&x{/E)
T, =273+20=293K, T, =273+50 =323 K (&R E)

RAI- v ILILDE BN S

Po=RT »>P/T=R/v=C (—%)

B B BN P, = L P, = 323, 301.3x10° =332.1x10° Pa (HEH/E)
T T, T, ~ 293

P, =332.1x10° ~101.3x10° = 230.8x10°[Pa] = 231[kPa] (/' — L E)
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